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1.   You have just finished an option transaction which obligates you to buy IBM stock.  What transaction have you undertaken?


Sold a put

2.  In order to create an artificial put on 100 shares of Yahoo! stock with an exercise price of $65, you have to short-sell Yahoo! stock and lend the present value of $6500 to the government.  What else must you do (be specific).


Buy a call on Yahoo! with exercise price of $65 with a desired expiration of the put.

Use the following information and the attached page from the Wall Street Journal to answer questions 3 through 5.  Assume you are trying to use the Black-Scholes option pricing model to determine whether or not the call on Exxon with a strike price of $60 and which expires in March (26 days after February 23rd) was fairly valued on Monday, February 23rd.  In order to value the call you have collected the following T-bill return (all returns are APRs rates with continuous compounding and maturities are in days) data:

Maturity
APR

4
4.85


11
5.06


18
4.81


25
4.76


32
4.96


39
5.22

3.  What would you enter for S0  as you solve the Black-Scholes model?


62.50

4.  What would you enter for t as you solve the Black-Scholes model?





5.  What would you enter for rf as you solve the Black-Scholes model?


.0476

Use the following information to answer questions 6 and 7.  Suppose you have just invested 75% of your wealth in Wintel Inc. and 25% of your wealth in Blind Oracle Inc.  The expected return on Wintel is 14% and on Blind is 10%. The standard deviation of returns on Wintel is 24% and on Blind is 18%.

6.  What is the expected return on your portfolio?


13% = .75(14) + .25(10)

7.  What additional information (if any) is needed to calculate the standard deviation of returns on your portfolio?


Correlation between Wintel and Blind
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Use the following information to answer questions 8 through 10 (note: put your answers to 8 through 10 on the same graph).  Suppose you are considering combining the following assets into a portfolio:

Asset
Expected return
Standard deviation of returns

A

12%
22%

B

19%
38%

C

15%
26%

T-bill
5%
0%

8.  In the space below, sketch and label (with an 8) a reasonable feasible set.


Area which curves to left of individual points (due to diversification)

9.  In the space below, sketch and label (with a 9) the efficient set.


Highest return portfolios for each level of risk (top part of feasible set).

10.  In the space below, identify  and label (with a 10) the optimal combination of A, B, and C.


Point of tangency on line from risk free rate to efficient set.
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